	Even though Napoleon was a great general and enjoyed many victories, he was not without faults.  This was particularly true at the Battle of Waterloo where he met his final defeat.  In a short essay, list and describe four reasons Napoleon lost this battle.

Napoleon lost the Battle of Waterloo for the following reasons:  The first reason was the weather. He did not anticipate the rain which caused so much mud that he could not move his canon to the highest hill.  Another reason is his men ran out of ammo.  This happened because the army packers packed mostly the wrong sized bullets. A third reason he lost the battle was food. Without his knowing, worms got into the flour.  Because of this, the cooks could only serve soup, not the food a soldier needs to go into battle.  The final reason Napoleon lost the Battle of Waterloo was his scouts.  They reported 1000 enemy, but actually there were  10,000 enemy.  His men were far outnumbered. The reasons led to his defeat at the Battle of Waterloo.
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